
CSE 322,  Fall 2010

Regular Expressions





Every regular language can be 
described by a regular expression



If L is regular, then L=L(R) for 
some regular expression R

Proof will take FA for L, & reduce it to a 
(G)NFA for same L with progressively fewer 
states until R becomes obvious.
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              r   s   u   v   w   x   y   z
Path in G:  1   2   3   k   4   k   k   2   1 ...

Path in G’: 1   2   3       4           2   1 ...
              r    s    uv      wxy       z

strings in 
L(edge reg exp)

In a nutshell, delete state k from G, but enlarge 
language on each edge to compensate, so that 
potential contribution of k is added to each 
edge in G’




